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1.

Thereare | | flowersaltogether.

e the number in words:




3. 6+85+7=

Look at the objects below and answer questions 4 and 5.
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4. The pair of scissors is _ cm long.

5 The is the longest nﬁjeﬂt,



8. Subfract

The picture graph shows the number of animals in a farm.

Tens Ones
5 0
3 1

Use it to answer questions 7 and 8.

v
v v
v v v
v v v v
v v v v
v v v v

Dﬁcks | Hens Pigs Cows
Each} ¥ stands for 1 fan?mal |
7. Thereare | pigs in the farm.
fewer cows than ducks.

8. Thereare i_

3




9. Armange the numbers in order. Begin with the biggest number.

10. Write the missing number in the number pattern below.

10 15 20 30

11. Anna and Betty are playing a Math game.
The person with the bigger number as the answer is the winner.
Look at their cards. Who is the winner?

47 + 4 50-2

Anna Betly

is the winner




12. 256 + 89

il

13. Armange the people from the tallest to the shortest.

14.

Crayon B is _cm longer than Crayon A,




15. James buys 9 toy cars.
Tom buys 25 toy cars.
How many more toy cars does Tom buy than James?

O

Tom buys . more toy cars than James.

Remember to check your work!
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1) There aghwers altogether.

2) Fifty-seven

3y 6+5 +h
4) The pz@xors is 4 cm long.
5) The pengiygs the longest object.
6) 19
7) There agegyirls in the farm.

8) There r cows than ducks.
10)25

11)An

12)25 + 64

13)B,

14)Cra =9 cm longer than Crayon A.
15)25 k

Tom by ERlEe toy cars than James.
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